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PART -1

SECTION -1I: ENGLISH

Directions (1-6) : Read the following passage carefully and answer the questions given beloyv.
Certain words or groups of words are given in bold type to help you locate them while
answering some of the questions.

It is said that there is a dismal fall of standards everywhere. The leaders who are not equal to
the task misguide their followers. The remedy of the malady that affects our political economic and
social practices lies in the human individual. What is needed is a change in his nature. For that, we
should read great classics. Literature brings about that change for the better. It improves the quality
of human beings. Great books give great thoughts, broaden our outlook, and awaken our souls,
They also provide a moral base as the lack of discipline and ideals-is inimical to civilized values.

There are various kinds of books. Some arouse or instruct while others elevate our nature. The
first kind of books destroy our ego and give us joy. Now joy is different from pleasure. The books
that give joy contain emotions and thoughts recollected in tranquility. Only a seer can produce such
books. They deserve not only to be read but also to be understood. Through them we establish a
contract with masterminds of the past. They passed on to us our traditions. But following a tradition
does not mean blindly following what our forefathers did or believed. We must adapt and bring
modifications. However, the individual contribution is largely determined by the pressure brought
upon us to bear new problems of the new era.

There are three clearly marked features of the age in which we live. They are the scientific and
technological revolution, the liberation of dependent countries in Asia and Africa and the growing
unity of the world. We should read books which trace the history of the above mentioned three
moments. The intellectual wealth of all mankind is at our disposal, we should break the barriers of
language. Books build bridges between countries, that is, they bring us together. They promote
understanding and love and remove suspicion, fear and hatred.

Great books come to our help when our values are discounted and many of us are mere
shadows of ourselves. We are the victims of contradictory impulses. We are a bundle of fear,
suspicion, greed, jealousy as well as kindliness and goodwill. For creating a harmonious human
society, the former instincts should be curbed, and the latter kindled. We must guard against
corrupting the minds of our people with trivialities. A general spiritual awakening is essential.

1. Choose the word that is OPPOSITE in the meaning of the word given.in bold.
TRIVIALITIES 4

JA) Emoluments ;,(B)/ Essentials (C) Promises (D) Details

2. Which of the following statements (a), (b) and/or (c) is/are TRUE in the context of the
passage ? ‘
(a) Books bridge cultures and promote understanding and goodwill.
(b) The author denies silent meditation and approves only books to get spiritual joy.
(c) Most of men are notmen but mere shadows of men, ;
(A) Only(a) 4B) Only(a) and (b)
(C) Only(a)and (c) (D) Only (b) and (c)
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3. Choose the word that is OPPOSITE in the meaning of the word given in bold.
INIMICAL '
~AX) Destitute (B) Extravagant  (C) Oppressed (D) Compatible

4. Choose the word that is SAME in the meaning of the word given in bold.

DISMAL
(A) Depressing .(B) Disabled (C) Bitter (D) Reckless

5. What does the author consider essential for creating a normal harmonious human
society ?
(a) We should control our emotions of fear, greed, suspicion and jealousy.
(b) We should encourage kindliness.
() We should not engage our mind in petty and mean things.
(d) There should be a general spiritual awakening among us.

(A) Only (a) and (b) (B) Only (a), (b) and (c)
) (a), (b), (c) and (d) (D) Only(b), (c)and (d)

6. How can the nature of the individual be changed according to the passage ?

[A) If he reads great books his outlook will be broad, his psychologlcal health will improve,
and he will have moral contentment and splrltual joy.

(B) If he reads great books only his psycholog|cal health will i nmprove
(C) If he reads great books, he will have only moral contentment and spiritual joy.
(D) If he only focuses on reading books.‘

7. A sentence is broken into four parts (A) (B) (C) (D) Mark the part that has an error.
Ignore errors of punctuation, if any. _

(A) Alike other turtles ) ~€B) “marine turtles breathe air
(C) through their lungs ' (D) and lay eggs on land

8. Rearrange the words to form noun phrase and fewrite the sentence :
Mili was given the task of (family-cooking- -entire-for- the)
(A) Mili was given the task of cooking for the entire famﬂy
4B)  The task of copking for the.entire family was given to Mili.
(C) The cooking task for the family was entirely given to Mili, v g 5
(D) Mili family was given the task of cookmg entirely,; ¢

n..‘

9, Select the most appropriate word and fl|| inthe blanks In foIIowlng sentence i

The MLA of this area is respected by the locals.
(A) Much " (B} Rather
(C) Very {D) Highly
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10.  Find out the correct meaning of the idiomatic expression and mark your answer.
. To cry wolf
A) To come to what is most important
(B) To give false alarm
(C) Toturn pale
(D) To be astonished

1.  Choose the appropriate phrasal verb.
I cannot go out tonight. I must look ° my little brother.

(A) for (B) on. _ 4€) : at (D)  after
12. Lata Mangeshkar was a well-known playback singer, ?
(A) Isn'tlt (B) Aren't She (C) Weren'tShe (D) Wasn't She

13. Change into passive voice. :
A judge reviews the case in the court.
(A) The case is reviewed by the judge in the court. .
{B) ' The case was reviewed by the judge in the court.
4C) The case has been in review by the judge in the court.
(D) The case have been in review at the court by a judge.

14. A sentence is broken into four parts (A), (B), (C), (D). Mark the part that has an error.
Ignore errors of punctuation, if any.

(A) Oneofthe «4B) best lawyers in town
(C) have been (D) hired

15. Use the proper conjunction : “He could not rea-chpn;,time ... hetried his best.”
(A) Somehow 4B) Though (C) However . (D) . Although

16. Choose the correct ANTONYM of the word : “AMICABLE” ' - ;
(A) Penetrating {B) Compensating. (C) - Unfriendly (D) Zigzag

17. Choose the correct SYNONYM of the word : “BLASE"” .
(A) Beautiful - (B) Blank 4€) Credible (D) Indifferent.

18. Choose the correctly spelt word.
(A) Emmoloments (B) Emolluments (C) Emoluments (D) Emolumants
19. Choose the correctly spelt word,,, -, k) 1
(A) preijudice (B) prejuidice Q)  prejudice (D) prijuedice

20. Choose the corrgét"ANTdNYMdf’t‘ﬁé"\"g\fB;‘d':uASSET..‘ | _
(A) Credibility "/ (B) Liability > -/ 4C) Poverty* ' (D) Prosperity
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21. Identify the modal/auxiliaries for the word... ‘will not’

(A) would not (B) won't JC)  wouldn’t (D) wasn’t

22. Choose the set of words for each blank that best fits the meaning of the sentence as a

whole.

If India is on protecting its resources, international business appears equally
to safeguard its profit.

(A) dreaded, fragile (B) stubborn, weak

(C) bent, determined (D) - approaching, settled

23. Choose the one word that can be substituted for the given sentence :

A speech made without preparation

(A) Prepared (B) Debate (C) Extempore- * (D) Elocution
24. Find the correct word to complete the sentence. “A of bees.”
(A) swarm (B) column (C) shoal D) group

25. Complete this sentence.
I am sleepy so I will off now.
(A) Dose (B) Doze Jd€) Sleep (D) Drowse

26. Change the sentence into Direct speech.
Rusty asked Steve if he heard him.
(A) Rusty said to Steve, “Do you hear me?”
(B) Rusty said Steve, can you hear me
J€) Rusty said to Steve, could he hear them
(D) Steve was asked by Rusty, “If he could hear him”

27. Add appropriate question tag :‘ You have completed your project 2
(A) Isn’t (B) Haven'tyou «C) Didn'tyou . (D). Haveyou

28. Identify the kind of Noun : “A Mother must have patience.”

(A) Proper 4B) Collective (Q) Ab!stract (D) ‘Comlfnon :
29. Choose the right interjection. ; ! We have won the match, i
(A) Hurray [B) Alas (C) O©Ooh (D) Hmm -
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30. Identify the kind of Noun : “A Committee of seven was appointed.”
(A) Collective 4B) Common (C) Proper (D) Abstract

31. ' Write the negative sentence for “Both of them have a bike”.
(A) Neither of them has a bike. (B) None of them have a bike.
{€) Nobody of them has a bike. (D) Two of them does not have a bike.:

32. "What time do you wake up?” What type of sentence is this ?

(A) Exclamatory sentence 4B) Declarative sentence

(C) Interrogative sentence (D) Imperative sentence

33. Rearrange the words to form a correct sentence :
temple/ a /make [noise/ in/ do not /the
(A) Make a noise in the temple do not
AB) Do not make a noise in the temple
(C) Do not a make noise in the temple
(

D) Do make not a noise in the temple

34. Choose the correctly spelt word.

4A) Conscious (B) Consiensus (C) Concisous (D) Consouics.. i,
35. Which is the silent letter in the word “Buffet” ? 3z s w2 ewonsbl &

(A) e (B) ‘v (© D)t s s

36. Change the sentence into Indirect speech.
“ I'm seeing my aunt tomorrow,” she said.

(A) She told us she will visit her aunt.
y) She said she will visit her aunt.
4C)  She said she was seeing her aunt the following day. AR +25VI0T 513 33319¢

on
123

(D) She said she wants to see her aunt. &

37. Identify the ‘present perfect continuous’ tenses of the given verb “to drive”.
(A) drive/drives 4B) iS/are/Sm ey o Hromemn—
(C), has/have driven (D) has/have been driving
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38. Find out the correct meaning of the idiomatic expression and mark your answer.
Bread and Butter
(A) Arichman’s meal (B) Breakfast

[c) Ameans of livelihood (D) To hear a good news

39. Choose the correct SYNONYM of the word : “LOQUACIOUS”
| (A) Adorable person - B) Adecent person
(¢) Talkative person (D) Introvert

40. "Agathering in a church or temple, etc. for a religious ceremony” is known as :

(A) spectators (B) congregation (C) troop (D) garrison

41. Select the relative pronoun:
The children shouted in class were punished.

(A) Who (B) Whom (C) Who's (D)‘ Which

42. Use the correct article in the following sentence :
She is educated lady with laptop at airport.

(A) an,the, a (B) the,an,a —C) an, a, the (D) a,the, the’

43. Identify the incorrect use of conjunctions.
(A) You must work hard. you'll not succeed in life if you don't.
(B) You must work hard otherwise you will not succeed in life.

¥C)  You must work hard, or you will not succeed in life.  *°

(D) You must work hard but still you will not succeed inljl'ife'. w

44. Select the correct spelling for the plural form of the word- “STOREY". .
1K) stories (B) storiys (C) storeys . (D). storeies

45. Write the correct similes: Ascunningasa _
(A) Dog (B) Fox (C) Eagle (D) Lion .
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Directions (46 - 50) : Rearrange the following six sentences (1), (2), (3), (4), (5) anfl (6) in the
proper sequence to form a meaningful paragraph; then answer the questions given below
them.

(1)

(2)

(3)

(4)

(5)

(6)

46.

47.

48.

49.

50.

While these disadvantages of biofuels are serious, they are the only alternate energy source
for the future and the sooner we find solutions to these problems the faster we will be able to
solve the problems we are now facing with gasoline.

This fuel can also help to stimulate jobs locally since it is also much safer to handle than
gasoline and can thus have the potential to turn around a global economy.

These include dependence on fossil fuels for the machinery required to produce biofuel which
ends up polluting as much as the burning of fossil fuels on roads and exorbitant cost of
biofuels which makes it very difficult for the common man to switch to this option.

This turnaround can potentially help to bring world peace and ‘end the need to depend on
foreign countries for energy requirements.

Biofuels are made from plant sources and since these sources are available in abundance and
can be reproduced on a massive scale, they form an energy source that is potentially unlimited.

However, everything is not as green with the biofuels as it seems as there are numerous
disadvantages involved, which at times overshadow their positive impact.

Which of the sentence should be the FIRST after rearrangement?

A (1) @) (5) @ @ (D) (4)

Which of the sentence should be the FIFTH after rearrangement?

(k))ﬂ (B (2 @ 3 (D) (5)

Which of the sentence should be the THIRD after rearrangement?

(A (1) £B) (2) (@ () (D) (4)

Which of the séntehce should be the SIXTH (LAST) after rearrangement?

W, e @@ () (),

[

Which of the following séntence should be SECOND after rearrangement?

(A) (6) (B) (2) 4€)  (4) (D) (5)
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(A)
52, f&d

53, HIE

54. f&
55. “d

56. f&

57. =&

58. ‘£

59. g

60.



54.

55.

56.

57.

58,

59,

61,
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51.

52.

53.

60,

PART - I
SECTION-II : HINDI

ol o SRt St A4S & 5 e A el arec; Faver e 22
(A) YIRS (B) WM aR®  (C) Wiy @R (D)  3ifreReoT R

-

forer TR ¥ 31T <1< 3t Ristwor & v F g gon & 2
(A) TR ST TSH &1 (B) e, & =
(C) & STt S W e ARy D) =it sremT Werer 21

e TIadl & | g gl ¥aifhd ez @1 ug uReg RifRT w2
(A) faivor, SEmTaTae, sy, Shfen, vaweaes, wer Rids
(B) fasiwor, gRHATUTaTee, e, ShfehT, v, wmar Rdsy
(C) faivor, SEATaT, S, ST, Yeas, wer Rssr

(D) fastwor, Fsarees, sy, SR, vwaem, 'ser Rids

ﬁwﬁéwaﬁmmﬁmﬁmmﬁgmmmmév

(A FémfRg (B) Rumfestys g

(Q) e g (D) wisraTeE g

"ga g fr T AoR U2 AR A FE B -

() wErg e e (B) amwef wiasaq &rer

(C) wwrem widsaq & (D) SITE= T

Frafaf@a g araa J gdemfaes forar 1wt g ?

(A)  ifehar @eTe U A7 (B) #ig o=t fer@ar @ 81

(C) A= eemaR @R {D) Rfsaierm a2

PreafafRe Rl § @ sl s A |@fa g : !
() & (B) wemER  (C) el (D) Refefy
P ot ger areg BifeY

(A) ey - (B) faH (C) frla (D) fAum
R A G ofy ik wez-@ve Fam A R @R A e et 8
(A) @i - " (B) %% () NG (D) srifirw

AR Y Se-aepdt Y aeE e ST STHIAT Sfd el Y611 & aveR H ifohe o Wt ag = R
wg? ' _ .
(A) A-saRat  (B) FEH-FwRd  (C) F-wwRA (D) g - TRt

ey trareror et gl - # BAAIEFRE?
() mﬁma@%m wl€) SUHl SRR (D)N FH SRR

Y Y
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62.

63.

64.

65.

66.

67.

68.

69.

70

ot & srercft wrot Ioras forg =1l & it gyl o i & 1 Aot i Wil & / afes T R i
ann\—rﬂaqamaﬁém%m%/ﬁﬁﬁaﬁém%ﬁgmﬂmmﬁlﬁmwww
Bl W gU R ORI T iR A aR 2 | :
PR & & eta-ar arisr dwgea & 2 .

_A) ot & srercft 1ot 378 forg e & it el Y i & 9 Qo IR T E |

(B)  afes et ot wig & A o et a7 o e fvuT &

(C) g ot 38 & forg & 7t ox e @ o ey 2

(D) fvrehT 3 g g, g e g ok kT e T @ v &

W#ﬁ#ﬁaﬁqmmm%?

(A) e & ok o rerrra gl 21

(B) mﬁﬁnwamaﬁfﬁqamﬁw%mmﬁmél

(C) 78l ke ot srediorarat & o e 21

(D) ﬁﬁ%ﬁ,wammﬁaﬁam%,:ﬂﬁﬁﬁ,gmamaaqﬁ%mmms’m%l

Fo=iY vime ot vt S soprd At e 2 2

(A)  aof (B) sz (C) fEw (D) st
Frafof@a & = a1 s agae & myam g 2 2

(A} e (B) 7 (C) farem (D) &ar
ﬁaammﬁmﬁﬂqaazﬁmmmam%?

(A) < (B) o (O wdmei (D) srart

R=faf@e aret A QU 1 AT Y AT a3
(A)  foar Sft g e T w8 {B) ﬁﬂmﬁ@ﬁwqﬁmaﬁm
(C) S =R & U s Ao it g 21 (D) ﬁﬁmmﬁaﬂ%mal

rdte .2 are = st g 8 o & e e vt R e ot g vt e
Hifgi ,

W mEe G kw0 e (D) wmem

=t farereat & @ wera Ruoht t Rfga &3

(A).. - 7o & foRit 212 oAl fora & srgere ot & ot oy et et e &) ; : '

(B) mwﬁaﬁﬁmwﬁmaamaaﬁaﬁmwﬁﬁ%mmaﬂﬁﬁmm
Iy gl 9 e Y aef-ft It o e g

(C)  suaT oref g fo aefft ot e ey symamTey el & weamor @ 2

(D) ot 1 o @ TET F Y 7 rfaray

‘gt o RAY A T wrr g arm f e R 2
JA) P e R - 4B) SR e fastor

(). Ffaa afemor are fRkor (D)  SifAfya aReror are Rshyor
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71.

72.

73.

74,

75.

PART -1
SECTION-III : SOCIAL SCIENCE

which Fundamental Right prohibits discrimination on grounds of religion, race, caste,
sex, or place of birth ?

(A) Rightto Freedom

(B) Right to Equality

(€) Right to Freedom of Religion

(D) Right to Constitutional Remedies

Which of the following is NOT a function of the Supreme Court ?
(A) To interpret the Constitution

(B) To settle disputes between states

(C) To conduct elections

(D) To protect fundamental rights

Wood's Dispatch of 1854 is considered important because it :

(A) Focused on the establishment of military schools in India.
[B) Laid the foundation for modern, Western-style education’in India.
(C) Established Universities across India. '

(D) Focused on improving agricultural practices.

What does secularism mean in the context of the Indian Constitution ?
(A) Separation of religion from the state

(B) Promotion of one religion over others

{C) State endorsement of all religions equally

(D) Prohibition of all religious:practices

Which of the following was an immediate cause of the Revolt of 1857 ?

(A) Heavy taxation on agricultural land :

(B) Introduction of Western education’ _

AC)  Use of Enfield rifles with cartridges rumored to be greased with cow and pig fat

“FEB) L acK of support for local art and culture

76.
77.

78,

The primary focus of the Second Five-Year Planwason:

JA) Agriculture (B) Heavy Industries
(C) Defence (D) Services Sector
Crop that needs well-drained fertile soils, moderate temperatures and lots of sunshine.
© m)7 Kharif Crop:(Rice) | (B) Zzaid Crop (Fodder)
(C) Rabi Crop (Wheat) (D) Legumes (Pulses)

In a parliamentary gdverhment, the Prime Minl&tgr is:
(A) Appointed by speaker S
(B) Elected directly by the public 3

&) The leader of the majority party in the legislature

(D) A member of the judiciary
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79.  Which of the following is NOT a provision under Article 22 ?
(A) Right to be informed of the grounds of arrest
(B) Right to consult and be defended by a legal practitioner
(C) Right to a public trial
D) Protection against preventive detention

80. Which of the following statements is incorrect about the method of growing indigo

during British rule ?

(A)  The 'Nij' system involved planters growing indigo on land they directly controlled.
(B) Inthe 'Ryoti' system, farmers were willingly growing indigo as it was highly profitable for

them.

(C) The 'Ryoti' system forced farmers to grow indigo on their own land under coercive

contracts.

.,(D) The 'Nij’ system planters found it difficult to expand the area of cultivation.

81. Marginalization refers to :

(A) The process of integrating individuals into society
The social process of being made marginal or peripheral

4B

)
(C) The promotion of equal opportunities for all
(D) The elimination of social classes

82. Who can file a Public Interest Litigation in India ?
(A) Only lawyers
-AB) Any individual or organization acting in the interest of the public
(C) Only government officials
(D) Only those directly affected by the issue

83. Match the following :

Column A (Step) Column B (Description)
1 | Charkha a | Thread dyers
2 | TISCO b | Spun thread
3 | Rangrez € (1854
4 | First cotton mill set up in India d [1912
(A) 1-b, 2-d, 3-a, 4-c | AB) 1-d, 2-c, 3-b, 4-a
(C) 1-a, 2-b, 3-c, 4-d (D) 1-c, 2-b, 3-d, 4-a

84. Which of the following is a characteristic of subsistence farming ?
(A) Use of advanced machinery and technology
4B) Highyields intended for large-scale trade

(€) Smallland holdings and traditional farming methods

(D) Practice of cutting down trees
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gs. Match the following :

Column A (Step) Column B (Description)
1 Thermal Power a | Petroleum
2 Black Golq b | Manganese
_;D’ Non-Convectional resource ¢ | Coal
4 | Metallic d. | Solar energy
(A) 1-d,2-c,3-3,4-b 4B) 1-c, 2-a,3-d, 4-b
(€) 1-a,2-b, 3-c, 4-d (D) 1-b, 2-¢,3-a, 4-d

86. Assertion (A): Raja Ram Mohan Roy founded the Brahmo Samaj in 1830.
Reason (R): The Brahmo Samaj aimed to prohibited all forms of idolatry and sacrifice.
(A) Both (A) and (R) are true, and (R) is the correct explanatlon of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
£€)  (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

87. 'Imagine you are a student in a university where a certain sectibn of students is being
denied to scholarships based on their caste. Wh|ch fundamental right is violated 2

(A) Right to Freedom
4B) Right to Equality
(C) Right to Freedom of Religion
(D) Right to Constitutional Remedies

88. With the help of the diagram choose the correct order of layers c’ji‘fAs_c.Si'l_ profile.

|
, gl — c il g
e D |
oL %
pYd /’7 o 4 B
2 A , ] ‘ &

{A)  A-Parent rock, B-Weathered rock, C-Top soil, D-Subsoil © .-,:;‘;-».n,; Wty ‘%'\-‘;1:;"
(B) A-Topsoil, B-Subsoil, C-Weathered rock, D- Parent rock it o “ " o
(C) A-Subsoil, B-Topsoil, C-Parent Rock, DWeathered rock Iy :_;":v"; _“ ‘
(D) A-Weathered rock, B-Parent rock, C- Subsoll, D-Topsoil \ o
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89.

90.

91.

92.

93.

94.

95.

The maximum strength of the Lok Sabha is : | ‘
(A) 500 (B) 550 CY€) 545 (D) 400

The Rowlatt Satyagraha saw violent incidents, the most notable being the Jallianwy
Bagh massacre. In which city did this massacre occur ?

(A) Lahore (B) Delhi C) - Amritsar (D) Bombay

Plassey ?,

What did thg British East India. Company gam as a result of its victory in the Battle ¢
(A) Control over trade routes to China

AB) The right to collect revenue (Diwani) in Bengal Blhar and Odisha

(C) The monopoly on indigo production .
(D) Control of all Indian territories

Assertion (A) : The growth of agro-based industries is dependent on the advancement:
in agricultural practices.

Reason (R) : Improved agricultural techniques lead to higher yields and better quality of
raw materials.

[A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)istrue, but (R)is false.’ ;

(D) (A)is false, but (R) is true.

Which of the following is not a prmc:ple of sustalnable development ?
(A) Respect and care for all forms of life -

(B) Improve the quality of human life

{€) Conserve earth vitality

(D) Apply latest technology and"skills‘ it o

A wide base in India’s population pyramld |nd|cates
JA)  Ahigh proportion of elderly |nd|V|duaIs B

(B) Alow birth rate 5

(C)  An aging population

(D) A high birth rate

What is the primary reason why fossil fiJeIs are considered non-renewable resource ?

(A) They cause pollution: s uef oy
£B) They take millions of years to.form
(C) They are found underground
(D) They are used in power plants:

35G-INH-1-24/U/ 1009/D. B R R ~ Page[H




ich of the f i . e
96. Whic ollowing statement is correct about the motive of Britishers to Partition

the Bengal ?

I. The Partl.tl_on .of Bengal was intended to promote unity among different religious
communities in the region.

II. The British claimed the Partition of Bengal was for administrative convenience, as
Bengal was too large to govern effectively.

IIL. Zl.‘lgdi.’artition of Pengal aimed to encourage the growth of Indian industries by

ividing the province into industrial and agricultural zones.
IV. The Par.'tition of Bengal curtail the influence of Bengali politicians and to split the
~ Bengali people. :
(A) I&II (B) I&II AC) I&IV (D) Onlylv

97. Broad flat steps are made on the steep slopes called terrace farming. What is the purpose
of terrace farming ?

(A) Toincrease soil fertility (B) To increase water flow

(€)

To reduce soil erosion | ~{D) To help in'growing crop

98. Which of the following was a major demand of the Munda Rebellion ?

(A)
JB)
Q)
(D)

Reduction of salt tax

Recognition of tribal rights over their land and forests
More educational opportunities for the tribals '

Abolition of the caste system

9. Bengaluru is referred to as the “Silicon Valley of India” because of :

(A)
-(B)
(e)
(D)

Its large number of parks and gardens

Its production of high-quality cotton ,
Its major hub of information technology (IT) companies

Its location in a valley surrounded by mountains

100. Which of the following statements is correct regarding the Rajya Sabha ?

(A)
(B)
v0)
(D)

35G-INH-1-24/U] 1009/D

It has a fixed number of members that cannot be changed.

It is a permanent house and cannot be dissolved.

All members of Rajya Sabha are directly elected.

It has the exclusive power to approve financial bills.
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PART - II
SECTION - IV : MATHEMATICS

what is the ratio of the first nypy,

3 7 ber
2 et to — of another num ’
Dé If\'g of a number is equal 30,

to the second number ?

(A) 3:4 (B) 7:6 (C) 2:3 D) 7:10

19Z A cylinder has radius 7 cm and height 10 cm. Find its curved surface area.2
(A) 440 cm2 (B) 480 cm2 (C) 550 cm?2 (D) 660cm

103" Which of the following shapes has rotational symmetry of highest order ?
(A) Arectangle  (B) A square (C) Atriangle (D) Akite

194. In a bar graph displaying the number of hours students spend on homework each wee|
O{ which statement is true if one bar is three times taller than another ?
JA)  The taller bar represents fewer hours spent on homework.
(B) The taller bar represents three times the hours of the shorter bar.
(C) Bothbars represent the same number of hours.
(D) The shorter bar répresents more hours than the taller bar.

%A dice is rolled. What is the probability that the number appearing is a prime number ?
(A) 1/2 (B) 1/3 @ 2/3 ~B) 5/6

d{ﬁ. Polygons that have no portions of their diagonals in their exteriors are called
(A) Concave (B) Convex - Q) Irregular (D) Regular

y/lf the temperature of a city increases from 25°C to 45°Cin5 hours, what is the rate of
. increase in temperature in °F per hour ?

(A) 18F/hour  4B) 22%F/hour () 7.2°F/hour (D) 3.6 °F/hour

aw 7'A and B can complete a taék together in 14 days. A alone can finish the task in 21 days.
M4 XK how many days can B complete the same task alone ?
(A) 30days «B) 28 days (C) 42 days (D) 60 days

150 Ak < °
19{' The average score of 10 students is 75. If 2 studenlts with scores $6 and'70 leave the
7)‘("‘% group, the average score increases by 3. Find the total score of the rémaining 8 students, °
“1y

SN (A) 592 ~B) 608 (C) 624 (D) 640
110 If two lines intersect, then the vertically opposite angles are :
0&@ Equal (B) Supplementary
(C) Complementary- *(’D,) Corresponding
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D{/'A cuboid has dl.menswns 12 cm, 8 cm, and 6 cm. How many cubes of side 2 cm can be cut
from this cuboid ?

(A 48 (B) 72 £) 96 (D) 144

112. Rohan borrowed ¥ 25,000 from a bank for 4 years at an interest rate of 12% per annum.

What is the difference between simple interest and compound interest, if the interest is
compounded annually ? (Mark nearest round figure) . deges

—

(4 -
(A) 1,340 . {B) 2340 (C) 4,340 (D) 25,340 )

y Hrie

}xlf one-fourth, half, and one-fifth of a number added to itself becomes 39, then what is

the number ? L Cone ka3 %s o
(A) 24 (B) 20 () 26 (D) 30 T
v o 20 A
114 Which of the following has the least value ? 27 ¢
“\ (A) -14x6 (B 12+ (-2) (C) 3-6x(-5) (D) -7x(-6)
. /770
1Mhat is the value of the Roman numeral "MEMXCIX" ?
(A) 1989 @X 1999 (C) 2000 (D) 1990
1Wh expression illustrates the associative property of multiplication ?
(A) 2x3=3x2 +B)  2x(3x4) = (2x3)x4
(C) 2x0=0 - (D) 2x2=4

" 800 each and one pant for T 500. If an additional 5% sales tax is charged, how much will

the customer pay ? (round off) )
(A) %1654 4B) T 1650 Jdey 1653 (D) %1660

‘% department store offers a 25% discount on all items. A customer buys two shirts for

- - Ayt
118 arr’la has a polyhedron -shaped toy that has 20 edges and 12 vertices. She wants to cover

“its faces with paper (one paper sheet for one face). How many paper sheets she needs to

—A 17 - 2062 'l‘ 1R
cover it fully ? e

(A) 8 w4B) 10 () 12 (D) 6

135 4F 2x2-3 x-5=(2x#+1) (x+m), then the value of m Ut

“ s (8) -5 A 4 - (D) 3

1205 The ratio of the areas of two circles is 1:4. If the radius of the smaller circle is 3 cm, what

is the radius of the larger circle 7 3
(A) 6cm (B) 9cm (C) »12 cm ~D) 8cm .

356-INH-1-24/U/ 1009/D
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122.-

123, /If the radius of a circle is doubléd, its area becomes :

¥4

124.

library's books are divided into : 1?
Fiction > 60 }
Non-fiction § 30
Biographies : 10 1
Total books = 100 (
What is the measure of the central angle for biographies in the pie chart ?

(A) 18° (B) 36° (C) s54° (D) 72°
LS

If6 workers can complete a job in 15 days, how many workers are required to complete
the same job in 9 days ? :

(A) 7 (B) 8 (A 9 «4D) 10

(A) Half (B) Double (C) Fourtimes (D) Eighttimes .
: Qo o= (87

“two angles are supplementary and one angle is 40° more than the other find the
smaller angle. '

(A) 50° (B) 70° () 1o0° 'L(/D)“ 140°;

) :
1255/As/w‘|mm|ng pool measures 35 meters in length and 10 meters in W|dth What is the area

127

12

JA) ss5 (B) SAS ,Lg) AAS '(D):,‘}§§A

in square centimeters ? : _
(A) 10,00,000cm? (B) 20,00,000 cm? &) 35,00,000 cm? (D) 5Q,,00{000 cmz

\.,‘

percentage. ’
(A 10% UB)  15% (@ 2% (D) 25%°

f/A shopkeeper buys 90 kg of rice at T 25 per kg and sells it at z 30 per kg. Find his prof“t

group of 8 students can complete an ART project in 1 8 days: How ﬁia’ny days will it take
for 6 students to complete the same project, working at the same rate ?
(A) 14 days (B) 12days* (C) "16days T 4D) 2a'days i

~ What is the value of x in (x, 48, 50) to make it a Pythagorean triplet? .

(A) 14 4B) 16 (c) 18 /(D) 2p

N

In triangle ABC and triangle DEF, if AB = DE, BC = EF, and LABC-LDEF which congruence
criterion can be applied ? " : on
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1W digit number is formed by repeating a three-digit number. For example, 357357,
789789, etc. Any number of this form is always divisible by :

) 43 (B) 7 €) 9 (D) 11

131,. In the given figure if 23 = 50° then what will be the value of 28.

4A)  50° (B) 60° (C) 100° (D) 130°

1.3y/nﬁxture contains alcohol andrwater in the ratio 5:3. If 16 liters of water is added to the

mixture, the ratio of alcohol to water becomes 5:7. What is the initial quantity of alcohol
in the mixture ?

(A) 30liters 4B) 20 liters (C) 25 liters (D) 15 liters
133. 1 . find value of 2 ABC if 2 OAC= 40° in A AOC.
‘ B .
4
AN __~C ,
(A) . 100° . (B) ..90° (Q) 40° _ 4B)  50°

134,/A vendor buys 13 dozen eggs at T 6/dozen and sells them at 4 0.75/egg.l What is his
profit/loss ? .
+A) Profit of¥78 .. (B) goss of¥39  (C) Profitof¥39 (D) No profit, no loss
3o -,

%tnangle RST, LROT 140° What is the value of x?

*%A)  40° (B) 90° () so° (D) 100°

35G-INH-1-24/U/ 1009/D - Page |19




1/%/{n a quadrilateral ABCD, if A + 2C = 120°, then 4B + 2D is equal to : )
(A) 180° (B) 240° (C) 260° (D) 300

137._Anumber is divisible by 15, but not by 5. Which of the following must be true ?
(A) The number is divisible by 3 only.
2 (B) The number is divisible by 2 only.
J€) The number does not exist.
(D) The number is divisible by 4 and 6.

138. What is the difference between the place value and face value of the digit 9 in the
number 69,827 ?
(A) 0 (B) 891 (C) 8910. D) 8991

139-A cLbe has all its faces painted red. If one of its corners is cut off, how many of the
\Q< following will be unpainted ?

(A) 2edgesand 1 face 4B) 3edgesand 2 faces
(C) 3edgesand 1 face (D) 2 edges and 2 faces

/14Q. A person walks 3 km east, 4 km north, and 6 km west. What is the magnitude of the
resultant displacement ?

(A) 2km (B) 4km (C) 5km —D) 7km -

)

141, Which of the following statements is/are true for a parallelogram?
(A\) Opposite sides are equal, and adjacent angles are equal.

4B)

Opposite sides are equal, and opposite angles are equal.
(C) Allsides are equal, and all angles are equal.
(D) The diagonals are equal.

142-The following table gives the weights (in kg) of 9 students :

| Student | Weight (kg) 3

S1 40 2 s
\ s2 55 , /’_____i “

s3 60 p 3
S4 45 o WOy S sp, 5
S5 65
S6 50 T \((‘175(%)52/5)’\/%. 9{/
s7 70 \o T
S8 62

. R P |- 52 4

’ ‘What is the median weight of the students ? , ‘

JA) 55kg (B) 60kg (C) S0kg (D) 65kg
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. _ ‘
ua\Find the value of (51 x 251/2) x 1251/3 (-& t1) 3

(A) 1 (B) 5 () 25 (D) 125

1%n a trapezium ABCD, if the length of the AD=7 cm and BC= 11 cm, and the height is
N=5 cm, find the area of the trapezium.

B
A = N
1 tl
D . C
(A) 32cm? (B) 45cm? 4€) 64 cm? (D) 40 cm?

% Simplify (2a + 3b)2 — (2a — 3b)?
JA) 12ab - (B) 24ab (C) 6a%-6b? (D) 36ab
PN zgf PR 2
Md the smallest number that should be added to 213 to make it a perfect cube.
A1 (®) 2 - 4€) 3 (D) 5

. Which of the follbWing has its area and perimeter Numerically equal ?
) An equilateral trlangle of side 4 centlmeters

(B) Square of side 4 centlmeters :
(C) An equilateral trlangle of side 2 centlmeters

(D) Square of side 2 centimeters.

01<’; If a point P is 7 units away from the center of a circle of diameter 8 units, the pbint P

lies:
(A) Inside the circle (B) Onthecircle
(C) Outside the circle (D) Cannot be determined

Find the diameter of a circle with area 154 cm2,
JA) 07 cm (B) 14cm (C) 28cm ©(D) 42cm .

/"Manan painted the outside of a box of length 4 m, breadth 2.5 m and helght 1 m How
much area dld he cover, if he palnted all except the bottom ofthebox?

A) 225m? _ (B) 23m’ ) 245m? (D) 28 m2 )
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PART - II
SECTION -V : SCIENCE
151. Which of the following seeds are carried away by wind for pollination ?
(A) Xanthium and Ursena (B) Drumstick and maple
<Cl; ‘Cocontlt (D) Castor and balsam

152. Rust of wheat plant disease is caused by :
{A)  Fungi (B) Bacteria (C) Virus (D) Protozoa

153. Loudness of Sound depends on :
{A) Amplitude (B) Frequency (C) Wavelength = (D) Speed

154. ______ was the first person who noticed the deflection of compass needle every time
the current passes through the wire. |
(A) Heinrich Hertz (B) Hans Christian Oersted
(C) Michael Faraday (D) William Gilbert

155. A wooden spoon is kept in the vessel in which water is boiling. It's other end :
(A) Becomes hot due to the process of conduction.
(B) Becomes hot due to the process of convection.
(C) Becomes hot due to the process of radiation.
(D) Does not become hot.

156. During dispersion which colour deviates the least ?
(A) Red (B) Yellow (C) Green 4D)  Violet

157. Which of the following is not a Natural phenomenon ? 7 5 2
(A) Cyclones (B) = Lightning {€) Earthing (D) Earthquake

158. Which of the following is not a necessary condition for combustion ?
AA) Presence of a fuel having high calorific value

4 (B) ~ Attainment of ignition temperature
(C) Presence of a combustible substance.
(D) Presence of supporter of combustlon

159. If we apply oil on the hlnges of door making cracklng Sound, the fI’ICtIOn will.:

(A) Increase _ ~+B) Decrease
(C) No change it ! (D) WIII disappear altogether
160. Which of the followlng glands is not a dual -purpose gland ? N
(A) Testes (B) Pancreas (C) Pltultary 4D)  Ovaries
161. In lichens symbiotlc assoclatlon is found | between ' ' MF
(A) Algae and fungus , B (B) _Fungus and bactena
(C) Algae and bacteria (D) Virus and bacteria’
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162. The processes evaporation, transpiration and precipitation are involved in :
gA) Water cycle (B) Carboncycle (C) Nitrogencycle (D) Oxygen cycle

163. The first signs of puberty in boys is :
(A) Enlargement of penis
(B) Appearance of pubic hair
<€) Enlargement of scrotum and testicle
(D) Deepening of voice

164. The number of nuclei present in the zygote is/are :
(A) 4 (B) 3 4C) 2 (D) 1

165. A simple pendulum takes 25 seconds to complete 50 oscillations. What is the time period
of the pendulum ?

JA)  2sec (B) 0.5sec (C) 1.5sec (D) 3sec
166. The impression of an image persists for about of a second on the retina.
(A) 1/18 (B) 1/8 Q) 1/6 (D) 1/16
167. Which of the following is not a major greenhouse gas ? - ,
(A) Carbon dioxide (B) Ozone (C) Methane (D) Both (B)and (C)
168. The major constituent of natural gas is:
(A) Butane (B) Methane
£€) Carbon dioxide (D) Hydrogen
169. Amalgam is an alloy of any metal with:
(A) Sodium -{B) Copper (C) Mercury (D) Zinc
170. Symbiotic nitrogen-fixing bacteria are presentin: '
(A) Roots of cereals 4B) Roots of leguminous plants
(C) Soil . vt (D) s A o mas s L £

171. Damaged fluorescent tubes or CFLs need to be disposed off safely as they contain
vapors, which are toxic in nature. ' '

(A) Sodium (B) Chromium AC) Lead (D) Mercuky
172. If the soil is too acidic for crops to bg grown, it is treated with : Q
(A) Quicklime = .4B) ‘Organicmatter (C) Water ~ " (D) Salt
173. Which of the following is present in animal cells but absent in plant cells ?
(A) Golgi bodies o 4B)  Endoplasmic reticulum :
(C) Centriole ' (D) Mitochondria - '
174. When an objec-t is heated, the molecules that make up the object :
(A) Begin to move faster (B) ' Begin to move slower '
(C) Become heavier " (D) Become lighter N

RENTEX
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175. The ultrasound equipment used for investigating medical problems works on
frequencies :

(A) Lower than 2 Hz . {B) Higher than 2 KHz
(C)  Lower than 2 KHz (D) Between 2 Hz and 2 KHz
176. Metamorphosis in frogs is controlled by hormone.
«A) Adrenaline (B) Growth (C) Thyroxine (D) Testosterone

177. Fertility of the soil is reduced by :
JA) Crop rotation
(B) Decaying organic matter
(C) Addition of nitrogen-fixing bacteria
(D) Intensive agriculture

178. is not a micronutrient required by plants.
(A) Chlorine (B) ' Boron (C) Sulphur (D) Zinc

179. Female Aedes mosquito acts as a carrier of : ‘ ‘
JdA)  Malaria (B) West Nile fever (C) Dengue (D) Typhoid

180. When menstrual bleeding occurs, fluid that comes out of the vagina contains blood and
(A) Zygote (B) Sperm 4C) Ovum (D) Embryo

181. Which of the following is a Natural phenomenon caused by the dispersion of sunlight in
the sky ?
4A) Formation of rainbow
(B) Advanced sunrise and delayed sunset
(C)  Twinkling of stars il
(D) The position of stars seems higher than they actually-are

182. Microbes that enter the body through the nose most likely affect :

JA) Lungs - (B) - Heart . (C). Liver ... . (D) Brain
183. Which of the following is not a Natural indicator ?

(A) Red cabbage extract o (B) Hibiscus

(C) Turmeric " YD) Ph‘éﬁglphtha‘le‘ih TN

184. While disposing paper, student 1 tears the paper (change A) while student 2 burns the
paper (change B). Which of the following is the correct statement ? ;
(A) Change A is a physical change and change Biis a.chemical change
(B) Change A is a chemical change and change B.is.a physical change,
(C) Both the changes are physical
(D) Both the changes are chemical.

Ti50 Sl
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185.

186.

187.

188.

189.

190.

191.

192.

193.

(C) " Laterally inverted
&P) Of the same size as that of the object

An adult human being normally passes about of urine in 24 hours.
(A) O5L-1L (B 2L-25L AG) 4L-5L (D) 1L-18L
All human beings have of chromosomes in the nuclei of their cells.
(A) 26 pairs {B) 23 pairs (C) 46 pairs (D) 2 pairs

The pictorial representation of two interdependent variables is known as :
" Graph «(B) Oscillation
(C)  Uniform motion (D) Non-uniform motion

The process by which ammonia is converted into nitrites and nitrates is called :
(A) Eutrophication JB) Ammonification
(C) - Nitrification (D) Denitrification

The process of depositing a layer of any desired metal on another material by means of
electricity is called .
(A) Anodizing 4B) Electroplating (C) Electric plating .(D) Galvanization

Which of the following is not a characteristic of t.he image formed by a plane mirror ?
(A) Real andinverted

\
(B) Virtual and erect

Photosynthesis is a process in which green plants prepare their own fbod_. Which of the
following is not required as a raw material for this process ?

JdX) Oxygen (B) Sunlight . (C) Carbondioxide (D) Water
The Panchmarhi Biosphere Reserve consists of one national park named :
(A) Satpura (B) Bori (C) Anand D) Dudhwa
Match the following constituents of petroleum with their uses :
Column A Column B
-+ v Petrol, o e a, Vaseline
2. Kerosene. " . ~b. ' .Road surfacing . THAN U AR LT
3. Bitumen. ‘c. Jetaircrafts e '
4. Paraffin wax.’ d. ' Solvent for dry cleaning
(A) 1-d, 2-c,3-b, 4-a 4B) 1-d, 2-c, 3:a,4-b A 4
(C) 1-a,2-b, 3-c, 4-d (D) 1-d, 2-a, 3-b, 4-c b e ceape
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194. Sound waves are:
AA) Longitudinal
(B) Transverse
(C) Partly Longitudinal Partly Transverse
(D) Sometimes Longitudinal Sometimes Transverse

195. Which of the following is a contact force ?
(A) Magnetic force ¥B) Gravitational force
(C) Electrostatic force (D)  Muscular force

196. Cell organelles having their own genetic materials are :
(A) Plastids and lysosome {B) Mitochondria and lysosome
(C) Plastids and Mitochondria (D) Golgi bodies and plastids

197. InLED there are two wires called leads. One lead is slightly longer than the other. Longer
lead is always connected to the terminal of the battery.
(A) Positive {B) Negative .(C) Neutral - (D) Any terminal

198. Speed of 54 km/ hr when converted to m/s is A
(A) 50m/s (B) 20m/s dC) 15m/s (D) 25m/s

199. What is the role of guard cells ?
(A) Absorb sunlight
(B) Helps in transporting water from xylem
(C) Helps in transporting sugar from phloem
P) Regulates opening and closing of stomata

200. Sliding friction is than static friction.
(A)  Equal 4B) More (C) Less (D) Equalto or less
S/C?x 1y
A
-00o0-
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